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$-)

G�= �
$��	� ($��� 1$ ($�#B 
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,$ 5�� 
� ��� ��L� G�= 	� %;�	L� 
� ��� ��#KB �*��
�� �BM �	!���%+�	� .��1$����� (	U� 5!,F� �	! 1$ �+&2 ��� ��#KB 5o� �
$��	� %2 �!�

%�	��� 	�$ C�$ .��� (M ��L� G�=5�� 
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	l� ���L� G�= 	� %;�	L� 
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	h&! , �&�!$��$1395 ��
�� %� ��7 5!,F� 
� (��@AB  ��� C�/�2 �� �4	� ($�Z�
���� (	U� (	�M 5!,F� Y�	+� .�1$��� ��� �
$��	� �� �
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3�&4� ;��#�<  

,� 5!,F� �� �*+�� %2 ��� 0	�	��� ���$ 3�4�:1$ �*B
	�� �
	� �� .�
 ?	[�$ �	!  3�$��
 , ��	H+I$g�Z� �w�	B , �]��) �
$��	;� 3&� 2009.( ($���$ ��� 	� m�	k� )1996(  ��x+� ,�
��L� �$�=$  ��#KB , 1$ �)�*�	&� %� ���g�Z�  , >�B	&+;�� ��� ��x+� ,� , �
$��	;� 3&�

��J ��� >�B	&+;�� ��	H+I$ 3�$��1$ �)�*�	&� %� ) ($
	h&! , �4	� ��� 	� m�	k�2009( 
 , ������) n	o+�$ ���� ��	�� 	� m�	k�0	�E�� 0
�� %� .���
 �� 9���B ��1  

\�E�� 1: ��� 1$ >�B	&+;�� ��� ��J .C�$ �B 
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\�E�� 2:  �B
$��	� ��� ��#KB �$�=$ 1$ ��� ��L� �$�=$C�$.  
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.�
$� $
 .��
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=&�3�&4� ���(>  
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	2 �8�! ��*� 1$ �E	� 5!,F� �
,M
.�$�|&= .��
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,M.� ^�B 1$ 	!
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$��$Eviews . C�$ .�
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	�M�5!,F� C2�
%+���-� �	! ($�#B 
$�	#� Q$
,$ R
�� 
� .�


%2 C�$ ��	�1 ,�&�I �$�� (	�M 0	�`T$  6	� 1$1388 C�	x41395  R�+�� 
�.���.��$ 	� %2
C��,�Z� %� %=�B ��1 �	!125 .�
 n	o+�$ C2�
^�&[� 
� ���$ 1000 6	�-  %� C2�


�[B , ��
�� �
�� �
	�M %��&� ($�*�%��&� �E	� 5!,F� 
� .C�$ %+��)
$�I 3��ZB , %� 
 �
	�M ����4	��J e,
 %�n	o+�$ C2�
 C�$ .�
.��� $
$� $
 ��1 ��$�
 %2 �	! ($�*� %� ��$

.�
 n	o+�$ �
	�M %��&�.�
 8-� �L�	� , ��$:��$  
1C2�
 .6	� �T ��	� 	! .�*
	� %+
$� 6	K� 
�p� R
�� 
� m�LZB 
� .�
 ~oU� �	!  
2C2�
 �4	� 6	� (	�	� . 	!29 �
	� �*/�$.  
3C2�
 �= .%�	��� �	!%k�$, ��
$-).�
	�� >�	� , w*���4 , �4	� ��)  
40
�� ..�
	� R�+�� 
� C2�
 �4	� �	!   

  

?�� 	����#�< ���@$��3�&4� 	  

$
	� �
$��	� ��
�� %� %2 C�$ .�
 �K� 5!,F� 9�$ 
��C2�
 
� ��� ��+o� �	!�+ �	!
%+���-�.��
 %+7$��� ($�#B 
$�	#� Q$
,$ R
�� 
� .�
   

�� .�	/+�$ ��1 6�� 1$ �m�LZB 0	�E�� (��1M �$��:��
  
\�E�� :6,$  

)1                                              (�����,�,� = 
� +	∑ 
�������� + �������  

6�� 
� %2 �����,�,� C2�
 ~4	7 ��� ���	�� j  CK*� 
�i  6	� 
�t ���
	� j-tEarn 
���	��  ��� �
$��	��	�� 1$ %+��) �� �	!��x+� ��	H+I$ � ��J ��� , >�B	&+;�� ���)
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�� (>�B	&+;���� ?	[�$ ?$�2 �! �$�� 0	��	Z� $�= 0
�� %� %2 �
	��� �2q (	�	
 .��

� , >�B	&+;�� ��� %2 �
	��� %��	Z� ��1 6���� R	�$ �� ��7 >�B	&+;�� ��J ������) 

) ($
	h&! , ��!2016.(  

�� + ��� =	 ����
����

− 	� � ������

����
����       )2(  

%4�	K� 9�$ 
� %2 jte  ��$����� 	�.�
 e
$�) C2�
j CK*�
� i  6	� 
�t , �� r�;LB 	� %2 
&=��$
$� | �	!)jtTA(  6	� 1	JMt  C2�
j (	;&!C�$ .�
 �1	� {6$�*� 9�&! %� , agg

ite 
C2�
 32 �	!��� |&=	! CK*� 
� �E	� �i , �� r�;LB 	� %2 agg

itTA ��$
$� |&= �	!

C2�
 32	!	� � CK*� 
� �Ei C�$ .�
 9�&!�%4�	K� 
� . 5o�) γ(eit
agg

nit
agg  ��� ���	��

>�B	&+;�� ) CK*� j	7 ���i( ���
	�.  C�$ ~oU� %4�	K� 1$ %2 %����	&! �$�� ��	�
C2�
 ��	&B9�$ %� %=�B 	� 	�$ ��2 $�=$ $
 %4�	K� 9�$ 	!%2 �� _�	*� 0	�`T$$ 
� 
��*� 9�$ �

 �$�� ��2$�� C2�
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,M 
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,� �
	= 6	� 1$ %l 1$ $
 ��7 (��� y���� 0	�`T$ �r��
�� C�� (M�� �*!�

� 	B 9��
 %%��	Z� �	= γ 	Z� %�	)$�= 
�T %� CK*� �! �$�� $
 (M �C2�
 �! �$�� %��

��	Z� %� ut� , .��2\ γ(eit
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nit
agg) ��&� 
��*� 9�$ %� .r�1
�� 0
�	��\  %� $
 �
	�M13  CK*�

5o� 	� m�	k��
 ?	[�$ 0	��	Z� , .��2 r�;LB ($�#B 
$�	#� Q$
,$ R
�� (	�1	� ��*� .
C�$.  ϑ) + ε)+ C2�
 j	7 ��� 8�K�j  CK*� 
�i  9�� 0,	/B 1$ �(>�B	&+;����J���)

 C2�
 .�
 e
$�) ���j  CK*� 
�i CK*� j	7 ��� , i �� C�� %� �($
	h&! , ��!) ��M
2016.(  

 9�$13  5o��:1$ �*B
	�  
1- >��$�� , �
	22- �) , >!M �(	&��3-  0	KkI , ,
��74-  ��,
$� �$��  

5-  ��	�&�
6-  >�+�`� , >�+� 7- .	�+�� �I�� �	!8- 9�
	� 0$��#[B , 0 M  
9- ��	2 ���� ��J �	!10-  ���� 0 �HZ�11-  ��	�$ 0$���12- � ��$-J % ,
$� �=  

13- ��	2���� �	!.  
\�E�� ?,�: U� 
�T %� �
$��	;� ��	�� 
� ��� �
$��	� �	!��x+� �$�� $
 5!,F� 6�� �%�	

�� 3��ZB (��� ��#KB G�= , ��� ��L� G�=) , r�*2g�Z� .1$��$ 
� ��� �
$��	� G$�=$ ���)
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� $
 �
$��	;� ��	�� �	!4  ,5 �� %z$
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6�� 
� %2�����,�,� C2�
 ~4	7 ��� ���	�� j  CK*� 
�i  6	� 
�t �� �
	�j-tEarn  
���	��  ��� �
$��	��	�� 1$ %+��) �� �	!��x+� �
$��	;� � ���) ��L���� ,��#KB�� ( �
	�

�� ?	[�$ ?$�2 �! �$�� 0	��	Z� $�= 0
�� %� %2�� �2q (	�	
 .��
%2 �
	� ��L� ���   ,
 �����#KB ��7 %� _�B�B 6���� R	�$ ���	! ��1 %��	Z� ������) �]��) , ($
	h&!� 2008.(  

)4(                                   CA = OCF + CFR − SP − TP  

)5(                                      AC = ���� − CA  
  

����A�� �:��.BC D��':  

�x+� �B	��&� , ���#/� ���KB 6,�= 
� 	!�1 C�$ .�
 %�`7.  
  

 ����1��	
��
 ���
��� ��	�� :  

	
��
 ���
��� ��	�� ����  	
��
 ��� 

C2�
 ~4	7 ���	! (	�1 , ��� 0
��  Earnit ~4	7��� 

C�4	K� 1$ �
	� �L� %=, ~4	7 (	��=�B	��&� �	! %=, ~4	7 (	��= +
%�	��� .�1	� 1$ �
	��L� C�	� �+7$��� ��� , �
$-)9��AB �4	� -  ���
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CA 
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C2�
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C2�
 %2	! %+
$� �+���  ���h�&� ��,
, ��$ .
	�M	! (	U� ���!� 8$�Z�$ %2 
�  ?`I$
��#KB ��L�, y���� %� C2�
 �$�=$ C�$. � 
	�K� 8$�Z�$  Y�	+� 9�*]&! 5!,F� �	!��x+

�� 9�$��	*� �C;�� �/� 3�$�� 
	�K� 8$�Z�$ Y�	+� .��&� �
$, 6�� 
� $
 5!,F� �	!��x+� ($�B
���) 
$1	� ��*� 1$ ��� �
$��	�  
	�K� 8$�Z�$ 1$ �+&2 (>�B	&+;����J ��� , >�B	&+;��

�
$��	;� ��*� 1$ ��� �
$��	� 3�$�� �*!� (	U� %2 C�$ (��#KB , ��L�)g *2$�� �+&2 �)�
 r&�*�� Y�	+� .C�$ .��� 9���	�� 1$ >�B	&+;����J��� , >�B	&+;�� ��� %� y���� 0	�`T$

�� (	U� 	!��x+� �$�� �!�3  �7�� >�B	&+;�� ��� , ��� ��#KB , ��L� G$�=$ ��x+�
C2�
	! (	�1 �!	) , %+
$� �/�KE ��h�&�.��� ��� .� ��� ��x+� R	�$ �� 	�$ ��$

B	&+;����JC2�
 ?	&B >���� �	!.��� .�.��$   
  

 ����2����� ���	
��
 ��
 !� "�
# :  

  itE  CA  ACC SE  USE  

$
%��

  142/0  096/0  041/0  121/0  026/0  
&��

  109/0  071/0  026/0  129/0  033/0  

'��()�
  209/1  804/0  873/0  586/0  836/0  
'�
*

  302/0 -  516/0 -  550/0 -  079/0 -  706/0  

 +,	-�,"�
�  181/0  157/0  143/0  111/0  086/0  

  
.�$� %h*�$ %� %=�B 	�6	�) ���2�B 5!,F� 9�$ 
� .�	/+�$ �
�� �	!- �� (C2�
 , �*
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��*� %� $-4 ��
	�
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,M�� 
� �L�/�B , �����	B �	!F �&�4  Y�	+� ��
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� ��&�4g
	�M F  1$ �+U��05/0 .�$� e,
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0# : F �
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 6"�
# F  �",��*�
 784  &�9	�:� ;�"<�=  

��� ��L� �$�=$ 95/2  001/0  .�$� e,
�����	B �	!  

��� ��#KB �$�=$ 06/4  001/0  .�$� e,
�����	B �	!  
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$�L�P-value C�� %� � 	!��x+� ?	&B �$�� .��M % ��� �=
 �+&2 >�B	&+;��05/0 ���
	�.�$� e,
 %[�+� 
� � �$�=$ 3�	
 	!��x+� �$�� �����	B �	!

 %+���-� >�B	&+;�� ��J ������� ��#KB �$�=$ ���� ��L�����
  ��� ��x+� �$�� ,
� >�B	&+;��.�$� e,
 1$ ��	.��
 .�	/+�$ �L�/�B �	!  

.�$� e,
 (�
 %+���-� 0
�� 
� ��K� %���� 
� $
 9&�	! (��1M ��	� ut� ������	B �	!
� C�	@ 	� ���	HB 0$�@$ e,
 9�� n	o+�$ C#= % %2 �B
�� 
� �9&�	! (��1M 
� .��� 
	2

 6	&+�$g
	�M  1$ �+U�� ,� �	205/0 $�@$ e,
 1$ ��	� ��
	� 1$ 0
�� 9�$ ��J 
� , ���	HB 0
�� .�	/+�$ C�	@ 0$�@$ e,
 6,�= 
� 9&�	! (��1M Y�	+� %�`7 .��
4  	� .C�$ .�
 %z$
$

 %� %=�BP-value  6,�= 
� 9&�	! (��1M4 n	o+�$ ���	HB 0$�@$ e,
 	!��x+� ��	&B �$�� �
����
.  
  

���� 4: 21�3 �!4 �5 ��	
��
 $�4�� /!
0# 

��	
��
  "�
#6 �� ��)  �",��*�
 784 

��� ��L� �$�=$  14/2 144/0 

��� ��#KB �$�=$  96/0  324/0  
>�B	&+;����J ���  01/0 801/0  

  

9��
,� (��1M 1$ 	!��x+� ��+;�&! ��7 ��=, ?�� 	� ��=, ~�oUB C#= 
�-  (�;B$,
 6,�= 
� Y�	+� %2 C�$ .�
 .�	/+�$5 �� (	U� Y�	+� .C�$ .��M %2 �!�g
	�M ,�9��
- 

 9�� 	!��x+� ��&! (�;B$,5/1  	B5/2 .�
$�� ��=, ��+;�&! ��7 3hU� , C�$  

  
���� 5: 6"�
# $
5"��- /!A�,�  

��	
��
  <"�
#  �%�AB�� �!3 ��� ���C  

��� ��L� �$�=$ 97/1  

5/2 < :; < 5/1  
��� ��#KB �$�=$  14/2  

>�B	&+;�� ���  84/1  
>�B	&+;�� ��J ���  72/1  

  
E�� 1$ �h�%� u�	�
$, (��	;&!) ����&! v�� �_�	*� ����;)
 6�� >� ��	�$ �	!

.��	&�I	�) C�$, (��1M 1$ 5!,F� 9�$ 
� v�� 9�$ ��
�� �$�� .C�$ 	!white test .�	/+�$ (
����
 1$ �+&2 �
$�	*K� �k� %2 �B
�� 
� .5 %2 �
$� ��=, u�	�
$, ��	;&!	� �
	� ��
�

(��1M 1$ (M |�
 �$�� Egls C�$ .�
 .�	/+�$ . 6,�= 
� C�$, (��1M Y�	+�6 .C�$ .�
 %z$
$  
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���� 6 :21�3 �!4 �5 ��	
��
 E�,� /!
0#  

��	
��
  6"�
# F �",��*�
 784  

��� ��L� �$�=$  31/2 094/0  
��� ��#KB �$�=$ 07/1  342/0 

>�B	&+;�� ���  17/9  001/0  
>�B	&+;�� ��J ���  52/14 0001/0 

  

	+� %� %=�B 	� 6,�= 
� C�$, (��1M Y�6  >�B	&+;����J , >�B	&+;����� �	!��x+�
u�	�
$, ��	;&!	� 3hU� (��1M 1$ 3hU� 9�$ |�
 �$�� u� �
$� ��=, 	!Egls .�
 .�	/+�$  

 6,�= 1$ 3�	� Y�	+� %� %=�B 	�7 ��	2 CK*� ��	�&�
 �$�� �>��$�� , �
	2 ����� �	!
��	2 ,� _��E 9��+U�� ������J �	! , ?
�B 3�� �	H+I$ ��2 3�$�� C�;� $
 r�L+;� C��	;

.	�+�� ����� 0 �HZ� , ��
$� $
 ��2
 C��	;� _��E 9��+U�� ,
��7 CK*�, �I�� �	!
C2�
 ��� 
	+�
 �*K� ��
$� $
 R�hK��� |�	*� 9�$ 
� �E	� �	!  3�$�� C#= 8`7

.C�$ %K�	= �� r2	� ��	H+I$  
  

���� 7: , G	�,�B
 0 H�	I � ��*  E
4�ACJ  

E�*  ,�B
 0, G	�  E
4�AC H�	I  E�*   ,�B
 0, G	�  E
4�AC H�	I  

>��$�� , �
	2  15/0 -  33/2  9�
	�0 M  07/0 -  08/1  
>!M, �)�(	&�� 21/0 67/0  ������J ��	2  09/0 -  79/1  
0	KkI , ,
��7  09/0  47/0 -  ���� 0 �HZ� 05/0  57/0 -  

��,
$� �$��  08/0  34/1   0$���  08/0  74/0  
��	�&�
  03/0  86/1  ,
$� �= %� ��$-J 04/0 -  26/1  

>�+�  >�+�`� ,  06/0  22/0 -  ��	2 ����  19/0 -  72/4  
.	�+���	! �I��  16/0  53/0 -    

  

●  (��1M\�E�� 6,$  
 Y�	+� 3��ZB , ��
�� �$��\�E�� �� 6,$ ��� 3L+;� ��x+� ,� �$�� 6�� e1$�� C;�	�

 >�B	&+;����J ��� , >�B	&+;���� ?	[�$ %�	)$�= 
�T %� $
 ~4	7 ��� 	� %� ut� , �

 ��+U�� �
$��	� ��� $
$� $
 ��+U�� _��E %2 ?$�2 �! .C7$��� ,� (M �
$��	� _��E %;�	L�

.�
$� ���� �= %� C�;�  
  

 ����8:  /!
0# L����M
I	9 ��,  

	
��
  H�	I  �",����4, +,	-�,  6"�
# t  P-value 

SE 814/0  026/0  127/3  900/0  
R-squared 484/0  g
	�M F  350/3  

Adjusted R-squared 344/0  Prob (F-statistic) 040/0  



 %��	Z� 	� ��	H+I$ ��	�� .	)��� 
� ��� G$�=$ �
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 (��1M �$�� %��	� Y�	+�\�E��  6,�= 	� m�	k� >�B	&+;�� ��� j�H7
� 6,$8  (	U�
�� �%2 �!�g
	�M t  ��$�� >�B	&+;�� ���127/3  
$�L� 1$ �+U�� %2g
	�M t )96/1( �k� 
�

 �	k705/0 ���
$�	*K� �k� , �
	� )P-value��$�� (M ( 008/0  1$ �+&2 C�$5  ��
�
 9�$��	*� .C�$\k�$
  _��E .�
$� ��=, ~4	7 ��� , >�B	&+;�� ��� 9��	� �
$�	*K� , C���

 	� ��$�� >�B	&+;�� ��� �$�� ��+;�	�814/0 � % ��� 0	�@ ($��� ���	�� %2 C�$ .��M C��
� >�B	&+;�� ��� 1$ �
	�� %2 >�B	&+;�� ��� .�
 3��KB 9��KB _��E %� %=�B 	� .�
	�

484/0 � %�� 9�$ ���	�� .��M C�� �,�� 
� %2 �
	�48  ��k7 0
�� %� ~4	7 ��� 1$ ��
�
�� 9��KB >�B	&+;�� ��� ���B m�k� 
�I .��
g
	�M F1$ �+)
�� � 2  ��$�� ,35/3  �k� ,

��$�� �
$�	*K� 040/0 %4�	K� $-4 �C�$ .C�$ 
$�	*K� ��� ������)
  
  

���� 9 : /!
0# L����M
I	9 ��,  

	
��
  H�	I �",����4, +,	-�,  6"�
# t  P-value  

USE 627/0  035/0  105/14  001/0  
R-squared 311/0  g
	�M F 011/5  

Adjusted R-squared 310/0  Prob (F-statistic) 001/0  
  

 (��1M �$�� %��	� Y�	+�\�E��  j�H7
� 6,$ 6,�= 	� m�	k� >�B	&+;����J ���9 
�� (	U� �%2 �!�g
	�M t  ��$�� >�B	&+;�� ��J ���105/14  
$�L� 1$ �+U��g
	�M t )96/1 
� (

 �	k7 �k�05/0 ��) �
$�	*K� �k� , �
	�P-value) ��$�� (M (0001/0 1$ �+&2 (5  ��
�
 9�$��	*� .C�$\k�$
 &+;�� ��J ��� 9��	� �
$�	*K� , C��� .�
$� ��=, ~4	7 ��� , >�B	

 	� ��$�� >�B	&+;����J ��� �$�� ��+;�	� _��E627/0  ($��� ���	�� %2 C�$ .��M C�� %�
�� >�B	&+;����J ��� 1$ �
	� ��� 0	�@3��KB 9��KB _��E %� %=�B 	� .�
	� ��J ��� .�


 %2 >�B	&+;��311/0 �� 9�$ ���	�� .��M C�� %� �,�� 
� %2 �
	�31  $
 ~4	7 ��� 1$ ��
�
�� 9��KB >�B	&+;�� ��J ��� ���B ��k7 0
�� %� m�k� 
�I .��
g
	�M F 1$ �+)
�� �2  ,

 ��$��011/5  ��$�� �
$�	*K� �k� ,001/0 .C�$ 
$�	*K� ��� ������)
 %4�	K� $-4 �C�$  
  

���� 10
4 	
P�!4 � Q
����A
4 �!4 �,(�, �!4 �",���� H�	I $
%��

 &A��R
 :Q
����A  

  
�*%�� �� /!1 /!
0# S���",���   /!
0# tTR�A
  

 ���A�� G	9
S���",��� 

F Sig. t df Sig (2-tailed) 
 +U�3,
$
%��

 

 +U�3,
"�
�
 +,	-�,  

 �",����

�!4 

 ���A��
S���",���  

496/2 119/0 

439/7  998  000/0  095/0  025/0  

 ���A����
S���",��� 

264/7 955  000/0 095/0  025/0  
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 6,�= 
�10  �	!��x+� _�$�E %;�	L�\�E��  �� �C�$ .��M 6,$(�4 (��1M Y�	+� R	�$� 
�*K� �k� 
$�L� �
$�119/0  1$ �+U�� %2 C�$05/0  %��&� ,� u�	�
$, ���$�� v�� $-4 �C�$

 (>�B	&+;�� ��J , >�B	&+;�� ���)���AB �� 
$�L� u� ��
g
	�M t  %=�B �
�� ��	;&! CZB
.C�$  
$�L� 9�*]&!g
	�M  (��1MT 9���	�� ���$�� j�H7 
���$�� �	! 433/7 
� %2 C�$ 

9���	�� ���$�� v�� �
 %��	��� 
$�I 	!�*K� 0,	/B 9�$��	*� ����) _��E 9���	�� 9�� �
$�
 �$�=$ 9���	�� 
$�L� ��
$� ��=, >�B	&+;����J ��� , >�B	&+;�� ��� �$�=$ ��� �
$��	�

��� 	&+;����� �$�=$ 1$ >�B �� 9�*]&! .C�$ �+U�� >�B	&+;����J  (��1M Y�	+� R	�$
 6,$�= (����)
8  ,9) >�B	&+;�� ��� _��E �814/0 ��� ������)
 _��E 1$ �+U�� (
) >�B	&+;����J627/0( �� $-4 C�$ C�;� ��+U�� �
$��	� >�B	&+;�� ��� G$�=$ C/) ($�B

�
$� >�B	&+;����J ��� G$�=$ %�.  

●  (��1M\�E�� ?,�  
 Y�	+� 3��ZB , ��
�� �$��\�E�� �� ?,� �$�=$ 3L+;� ��x+� ,� �$�� 6�� e1$�� C;�	�

�� ?	[�$ %�	)$�= 
�T %� $
 ~4	7 ��� 	� ��� ��#KB �$�=$ , ��L� %;�	L� %� ut� , �

 ��+U�� �
$��	� ��� $
$� $
 ��+U�� _��E %2 ?$�2 �! .C7$��� ,� (M �
$��	� _��E %� C�;�

.�
$� ���� �=  (��1M �$�� %��	� Y�	+�\�E��  6,�= 	� m�	k� ��� ��L� G$�=$ j�H7
� ?,�
11 �� (	U� 
$�L� �%2 �!�g
	�M t  ��$�� ��L� G$�=$021/9 �� 
$�L� 1$ �+U�� %2�
	�g
	�M t  

)96/1 �	k7 �k� 
� (05/0 C�$ ) �
$�	*K� �k� ,P-value ��$�� (001/0 +&2 %2 C�$ 1$ �
5  9�$��	*� .C�$ ��
�\k�$
  .�
$� ��=, ~4	7 ��� , ��L� �$�=$ 9��	� �
$�	*K� , C���

 	� ��$�� ��L� �$�=$ �$�� ��+;�	� _��E255/0 � % 0	�@ ($��� ���	�� %2 C�$ .��M C��
�� ��L� �$�=$ 1$ �
	� ��� %2 ��L� �$�=$ 9��KB _��E %� %=�B	� .�
	�448/0 � % C��

	�� .��M�� 9�$ ��� �,�� 
� %2 �
	�44  �$�=$ ���B ��k7 0
�� %� ~4	7 ��� 1$ ��
�
�� 9��KB ��L� m�k� 
�I .��
g
	�M F 1$ �+)
�� �2 ��$�� , 859/6  ��$�� �
$�	*K� �k�001/0 

C�$ 
$�	*K� ��� ������)
 %4�	K� $-4 �C�$.  
  

���� 11:  /!
0# L����M
I	9 ���  

	
��
  H�	I  ���4, +,	-�,�",�  6"�
# t  P-value  

CA  255/0  028/0 021/9 001/0  
R-squared  448/0 g
	�M F 859/6  

Adjusted R-squared  446/0  Prob (F-statistic)  001/0  
  

 (��1M �$�� %��	� Y�	+�\�E��  6,�= 	� m�	k� ��� ��#KB G$�=$ j�H7 
� ?,�12  (	U�
�� �%2 �!�g
	�M t  ��$�� ��� ��#KB G$�=$291/2 �� 
$�L�1$ �+U�� %2 �
	�g
	�M t )96/1 
� (
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 �	k7 �k�05/0 �
$�	*K� �k� , C�$ )P-value ��$�� (028/0  1$ �+&2 %2 C�$5  ��
�
 9�$��	*� .C�$\k�$
  _��E .�
$� ��=, ~4	7 ��� , ��#KB �$�=$ 9��	� �
$�	*K� , C���

 	� ��$�� ��#KB �$�=$ �$�� �
$��	�088/0  .��M C�� %� �
	� ��� 0	�@ ($��� ���	�� %2 C�$
�� ��#KB �$�=$ 1$ %2 ��#KB �$�=$ 9��KB _��E %� %=�B 	� .�
	�307/0  .��M C�� %�

�� 9�$ ���	�� �,�� %2 �
	�30  ��#KB �$�=$ ���B ��k7 0
�� %� ~4	7 ��� 1$ ��
�
�� 9��KB m�k� 
�I .��
g
	�M F 1$ �+)
�� �2 ��$�� ,912/4 *K� �k� , ��$�� �
$�	001/0  �C�$

 .C�$ 
$�	*K� ��� ������)
 %4�	K� $-4  
  

 ����12:  /!
0# L����M
I	9 ���  

	
��
  H�	I  �",����4, +,	-�, 6"�
# t P value 

AC 099/0  045/0  193/2 028/0  

R-squared 498/0  g
	�M F  912/4  

Adjusted R-squared 397/0 Prob(F-statistic)  001/0  
  

 6,�= 
�13  �	!��x+� _�$�E %;�	L�\�E��  �C�$ .��M ?,�R	�$ ��  (�4 (��1M Y�	+�
�*K� �k� �
$�045/0  1$ �+&2 %2 C�$05/0  ���) %��&� ,� u�	�
$, ���$�� v�� $-4 C�$

 (>�B	&+;�� ��J , >�B	&+;�����AB �&� 
$�L� u� ���
g
	�M  t u�	�
$, ��	;&!	� CZB 	!
�$ ��� �
�� 3��ZB �$�� 
$�L� 9�*]&! .Cg
	�M  (��1MT 9���	�� ���$�� j�H7 
� �	!

��$�� 834/12 9���	�� ���$�� v�� �
 %��	� 
� %2 C�$�� 
$�I 	! 0,	/B 9�$��	*� ����)
�*K� 
$�L� ��
$� ��=, ��#KB ��� , ��L� ��� �$�=$ ��� �
$��	� _��E 9���	�� 9�� �
$�

� �$�=$ 1$ ��L� ��� �$�=$ 9���	��C�$ �+U�� ��#KB �� . (����)
 (��1M Y�	+� R	�$ ��
 6,$�=11  ,12 ) ��L� ��� _��E255/0) ��#KB ��� _��E 1$ �+U�� (088/0 $-4 C�$ (

�� 	� 9�*]&! .�
$� ��#KB ��� G$�=$ %� C�;� ��+U�� �
$��	� ��L� ��� G$�=$ C/) ($�B
� ��� �
$��	� G$�=$ .��M C�� %� _��E Y�	+� %� %=�B ��+U�� �
$��	� ��	H+I$ ��	�� R	�$ �

��
$� �
$��	;� ��*� 1$ ��� �
$��	� G$�=$ %� C�;�.  
  

����13�!4 �,(�, � ��R� �!4 �,(�, �!4 �",���� H�,	I $
%��

 &A��R
 /!
0# : ��V��  

  
S���",� �*%�� �� /!1 /!
0#��  /!
0# t  TR�A
  

 ���A�� G	9
S���",��� 

F Sig.  t df Sig(2-tailed) 
+U�3, 
$
%��

 

+U�3, 
+,	-�, "�
�
  

 �",����

�!4 

 ���A��
S���",���  

649/5 046/0 

091/13  998  000/0  055/0  014/0  

 ���A����
S���",���  

834/12 971  000/0  055/0  014/0  
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● .�$� Y�	+� %� 	� �	!  
6�� 9�&oB Y�	+�.�$� 1$ .�	/+�$ 	� �	! 6,$�= 
� %� 	� �	!14 , 15  	� .C�$ .�
 .�
,M

�� 	!��x+� _�$�E %� %=�B %2 ��2 (	�� $
 ^�E�� 9�$ ($�B\k�$
  ~4	7 ��� 	� 	!��x+� ?	&B
�� 
$�	*K� , C��� 6	� ��#KB ��� 	#*B .�
	�88 \k�$
 9��
,� %� %=�B 	� .�
$�� ��=, 
$�	*K�- 

 (�;B$,C�� %�  .�
$�� ��+;�&! ��7 	!��x+� 1$ ?$�h]�! .��M ��x+� %� �$�� 9��KB _��E
�>�B	&+;�� ���  9�� ��L� ��� , >�B	&+;�� ��J ���19  	B ��
�95   	� %2 C�$ ��
�

3��KB 9��KB _��E (����� ~4	7 ��� 
� 	!��x+� 9�$ %=�B 3�	I 5L� ���	�� .�
 
� �
	�
��� 9��	� 9��KB _��E 3�	L� %kL�  9�� %21  	B ��
�13 �� C�$ ��
� 9�$ �� C�$ C�KI$,

.�
$�� ~4	7 ��� �� �#�=�B 3�	I 5L� ��#KB ?`I$ %2  
  

 ����14 ���	
��
 &�W�4 /!
4	X" L���� :M
I	9 ��,  

Q
����A
4 	
P �!4 Q
����A
4 �!4  

D.W  2AdjR  _��E  C�	@  D.W 2AdjR  _��E  C�	@  6	�  
97/1  35/0  *0,45  14/0  88/1  01/0  ***19/0  12/0  88  
75/1  19/0  *0,46  10/0  73/1  03/0  **0,21 09/0  89  
73/1  28/0  *0,64  10/0  07/2  09/0  *0,38  07/0  90  
66/1  29/0  *0,67  11/0  13/2  14/0  *0,49  05/0  91  
66/1  35/0  *0,91  09/0  98/1  24/0  *0,85  05/0  92  
05/2  42/0  *0,95  15/0  23/2  19/0  *0,71  09/0  93  
82/1  36/0  *0,51  16/0  73/1  26/0  *0,69  08/0  94  
69/1  24/0  *0,52  13/0  61/1  28/0  *0,61  11/0  95  

     �k� 
� _�B�B %� *�**�***10  ���
�5  ���
�1 
$�	*K� ��
�  
 

���� 15:  ���	
��
 &�W�4 /!
4	X" L����M
I	9 ���  

��V�� �!4  ��R� �!4  

D.W  2AdjR  _��E  C�	@  D.W  2AdjR  _��E  C�	@  6	�  
95/1  01/0  *0,02  14/0  82/1  24/0  *,420  09/0  88  
67/1  02/0  **0,16  10/0  06/2  40/0  *0,57  05/0  89  
99/1  02/0  **0,23  10/0  03/2  34/0  *0,65  05/0  90  
88/1  03/0  **0,27  10/0  13/2  29/0  *0,63  07/0  91  
76/1  07/0  *0,33  12/0  13/2  33/0  *0,77  08/0  92  
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14/2  05/0  *0,26  11/0  84/1  27/0  *0,58  09/0  95  
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